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QUESTION 1

If after running a session task, it has been determined that the incorrect mapping was run for that session task, which of

the following actions could be attempted?

A. Edit the session task and from the General tab, choose the correct mapping to reassociate with the session task,
then Save and rerun the process

B. At run time, when the workflow is executed, chose the session task with the correct mapping associated

C. Edit the session task and from the Mapping tab, choose the correct mapping to reassociate with the session ask,
then Save and rerun the process

D. None of the above

Correct Answer: A

QUESTION 2

Which of the following is a reusable task available in workflow manager?
A. Decision

B. Assignment

C. Control

D. Command

Correct Answer: B

QUESTION 3

Referring to Informatica Domain Architecture, select the statement which is correct and true.
A. A worker node does not use a service manager

B. The OS process that is running after the service manager is started is called pmserver

C. The service manager on node 1 will directly monitor services on node 1 and node 2. This is why it is called the
gateway manager.

D. Nodes within a domain are identified by their name, a hostname and portnumber

Correct Answer: B

QUESTION 4

The HTTP Transformation supports which HTTP Methods? (Choose all that apply) Choose 2 answers
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A. DELETE
B. GET

C. POST
D. PUT

Correct Answer: BC

QUESTION 5

A user needs to compare mappings across two folders using the comparsion tool in PowerCenter Designer. What does
the user account need in order to successfully complete the comparsion action? (Given that the user account has been
granted the ability to use PowerCenter Designer)

A. Read permissions on the two folders

B. Read permissions on the two folders as well as have both folders opened

C. Full access (Read, Write and Execute permissions) on both folders

D. Mappings cannot be compared across folders using PowerCenter Designer

Correct Answer: B

QUESTION 6
Which of following statements is valid for Dynamic lookups?
A. Dynamic caching cannot be enabled on a lookup that returns multiple rows per search

B. A dynamic lookup can only be used with insert mappings, i.e. no update strategies are allowed and the session
should be configured as Insert

C. A dynamic lookup must be cached and persistent
D. It is possible to update and delete records in a dynamic lookup

Correct Answer: A

QUESTION 7

When using the Joiner transformation and assuming that you are not employing the Push Down Optimization feature,
which statement is correct?

A. The data from the detail pipeline Is used to build the cache files used In the join process
B. The data from the master pipeline is used to build the cache files used in the join process

C. The cache files are built according to a sql override found on the Joiner Properties tab
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D. The Joiner transformation uses the database to build the join result

Correct Answer: B

QUESTION 8

Which combination of Transaction Control transformation and target type results in an invalid mapping? (choose one)
A. Dynamic MQ Series target

B. MS target

C. Relational target

D. XML target

Correct Answer: B

QUESTION 9

Which statement is correct regarding User-Defined Functions (UDF)?

A. A UDF name can contain letters, numbers and underscores

B. Can be used in mappings and transformations however not in mapplets
C. Can be reused from a shared folder as shortcut

D. Can contain Java code snippets

Correct Answer: A

QUESTION 10

Assuming that the Master Pipeline has 5 fields, two of which are part of the join condition and that all fields are
connected downstream to the next transformation, how many fields are in the index and data cache files?

A. 5 fields are in the index cache and 3 are in the data cache
B. 3 fields are in the index cache and 2 fields are in the data cache
C. 2 fields are in the index cache and 3 fields are in the data cache
D. 2 fields are in the index and 5 fields are in the data cache

Correct Answer: A

QUESTION 11
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In which of the following selections are all of the transformations active?
A. Expression, Router, Joiner

B. Update Strategy, Expression, Aggregator

C. Stored Procedure, Joiner, Router

D. Router, Update Strategy, Joiner

Correct Answer: D

QUESTION 12
Which of the following is true about database connections?

A. Connections may only be created in the Workflow Manager for PowerCenter Repositories and only in the Developer
for the MRS

B. PowerCenter connections may be created In either the Administrator or the Workflow Manager
C. MRS connections may be created in either the Workflow Manager or the Administrator

D. Connections may be created in the Administrator for the MRS and in the Workflow Manager for PowerCenter
Repositories

Correct Answer: A

QUESTION 13

What does the function SETVARIABLE ($$Variable, value) do?
A. Assign the minimum value of the two to $$Variable

B. Assign the maximum value of the two to $$Variable

C. Allows the assignment of a value to a parameter

D. Assign the value to $$Variable, unless the value is null

Correct Answer: D

QUESTION 14

What function could be used to exchange \i\\' with \WI\\' in the COMPANY port given the following expression?
functionname{l, COMPANY, \Vi\\' , \WI\\")

A. CHOOSE

B. REPLACECHR
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C. REG_REPLACE
D. INSTR

Correct Answer: B

QUESTION 15

In the Expression transformation graphic below, what is the value of the PREVIOUS_STATE port for row 2, given that
the value for the STATE port was \WCA\\' for row 1?

it transformations x|
Transformation  Ports | Properties | Metadata Estensians |
Select tranformation: |15 xp_COUNT_CUST_STATES =
Trensfcamaten type: Expression (Reusatie] D&RE ¢4

Fail Hama

E LI e

|
STATE FF AT
S S TATE_COUNTER reegee [ [ |@ [FiPREVOUS_STATE « STATE, STATE_COUNTER 1,17 3
R FREVIDUS_STATE g 2 ;|7 [STATE
(R STATE_COUNTER_OUT riege  |F [ |STATE_COUNTER

A. STATE

B. WCA\

C. NULL

D. Value of the PREVIOUS_STATE port is based upon its declared default value

Correct Answer: B
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